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QAT AT YO JI X 9T =4O T
1.1 sl - ST e faeaepr difae, amAtSeE T iy qe
1.2 3fqEN, B T QS SFae
1.2.1 faeaer yq@ Ufderias aaAme
1.2.2 SOTAR YIS TAT TABTAR IASTAIcTep, ATMIFTE ATHIS FIERAE AqLAT T
AR ST
1.2.3 FUTATHT AThAAR! AT TUH TAARIATEE
1.2.4 FIIAHT GATAT gH, FER(A, ATAAIT, HTHT, Aiecd T FHal
1.3 YUEAYE T WA - SfFuT, AoTqe SAaedT, AfrbRAr Aaia gt/ favues T Sareres
I TaEATHT [ThTAH A

1.4 et faera
1.4.1 FIHT AFEH qEaREE (FHN, SUNT, AR, T, I, d=9r, e, @, ¥
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1.4.3 99TereR! faea= e e iafataegs

1.5 for fawr, ardErde aiifeafs, wumaefm @weo Stge ffgadrn seemg afeEds,
STAHTH, e, JEErd, Jguu, WWHWWWWWW
T GaATAE®

1.6 fa=m T gfata
1.6.1 IH@ IFHF AT T ANTHRES, Gg e T fqeepr AFTar
1.6.2 TGS T gfatael AHE S(a+ T TATSTHT Ghl TATT
1.6.3 =RHfqerer(evolution), FeM[, TTE ¥ AT AR ATHT SATAHRRT

1.7  SaRIveT HITHAT Q9T SraRingd e /gen
1.7.1 9% 9 ACeE qdT AW, Gq<h AT FHNH, GIhH AT, T, B, STHAT,

HRATE ¥ AU O AITAR] EI4

1.7.2 IIh ACHY YU, gl STaedqda T 797

1.8 UET T F=INGT WEAHT THAMGF Tl qOT TAMAH  TQraiges:  Asi e,
TTHTTST, TR cTeh, AT, ATITF, TAks, TP, PR, Fell, Alecd T FUQET qEaied
Hecaqu fthca qur faemaes

Part (B)
Aptitude Test 30 x 1 = 30 Marks
2.1 Verbal reasoning such as series, analogy, classification, coding-decoding, insert the missing
character, common property, matrices, direction and distance sense test, ranking order,
assertion and reason, induction, deduction, courses of action, etc 6 x 1 =6 Marks
2.2 Non-verbal reasoning such as series, analogy, classification, Venn diagrams, matrices,
construction of squares and triangles, and figure formation and analysis, dot situation, water

images, mirror images, embedded figures, etc. 6 x 1 =6 Marks
2.3 Quantitative aptitude such as arithmetical reasoning / operation, percentage, fraction, decimal,

ratio, average, loss, profit, date/calendar, time and work, etc. 6 x 1 =6 Marks
2.4 General mental ability, logical reasoning and analytical ability 6 x 1 =6 Marks
2.5 Data interpretation - charts, graphs, tables, data sufficiency 6 x 1 =6 Marks
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Part (C)
3. English Language Competence Test 20 x 1 =20 Marks
3.1 Comprehension: 5 x 1=5 Marks
Questions will be asked based on the passage given. The questions will try to accommodate
the following areas:
- Fact finding, Inferential, Core theme, True/false identification, Issues raised and
Language based
3.2 Vocabulary: 7 x 1 =7 Marks
Questions will be asked to assess their grasp on the English language vocabulary. The
questions will be of the following nature:
- Meaning of the words (literal /figurative/contextual), Single word for expressions,
Synonyms/antonyms, Derivatives and Homonyms/homophones
3.3 Syntactic ability: 8 x 1 =8 Marks
Questions will be asked to assess the syntactic ability of the candidates. The questions will be
based on the following categories:
- Agreement, Tense aspect, Parallel structures, Clauses, Modifier, Conditionals,
Phrasal expressions, Shifts (tense, number, person), Transformations, Varieties,
Prepositions/conjunctions and Parts of speech

Note: - This above English Language Competence Testsyllabus is devised for assessing the
proficiency of the English language of candidates. With the view to assess the candidates’
language competence, the syllabus aims:

e to test the understanding of their language through reading comprehension,
e to map the range of their vocabulary,
e to examine their syntactic ability.

The nature and standard of questions in English Language Competence Testwill be such
that an educated Class XII level person will be able to answer them without any specialized study.

TR - TIH I TS AT THEHT AT qaadl Part (A)F IeTHhAH! Thleesdd
garaeralevel | &1 o giqera Level 11 &1 ¥o gfqerd TR HFTTARIIAEHITE |

Table of Specification

No. Specification
Unit . of Level | Level 11 Remarks
No. Contents Title items | (60%) (40%)
1.1 | sF= 6
1.2 | shoew, st X amaitae e 6 Level | =1 %o
14 10 gtaera TLevel 1l
1.3 | srEAagha T mEe 6 1 %o ghTere
1.4 | i faera 6
15 | feir faeprar, aramaxeiiy aikfet,. ... 6
16 X 6 Level | &7 <0
17 Wa'.‘“ ;“.g“ AR qE AR | 16 10 | wfaera 7Level I
ikl T Y0 Flaerd
18 ARG T AR AeAd THATAIE 3
T | "EAT QAT AGAaH Mfatataes
Total 50 30 20
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IIH 9. AT GTATHT AHAIY e
Part A - General Awareness

Level |1 questions

1. HEHFTCHT TTHT FTSHT 8¢ HIAEE.. ... T FTSHAT FUSTAIAT AT B |
A)ared B) #5aIel  C) WhIX D)a#iferaz

2. FF JAAdEaE FIAT FATH a9 FqeTar dfawg 7
A) TH Y31 B) HEEA ga9T C)) I g7 D) A& ANRA

Level Il guestions
3. TR FIFeT &%, TAd & g4 Gedrs el 7
1. TART Hiferh AT A ARMET STeiiepl Aiwa? FMHITHT ST T PSP TANT &5 |
2. IHEl FHIIHT e fedhg T97 TIaT IRFRITT AT T °% 2 |
A) 172333 B)1 % 2 3o Tad
C) 1 3% @ 2 Taq D)1 T&@q @ 2 &%

4, I | T || A7 SIST (AATSTEE ¥ HISae Fel IR B |

T | T |1
a) Aristotle 1.Theory of surplus value
b) Socrates 2.The politics
c) Abraham Lincoln 3.Hemlock
d) Karl Marx 4.Slavery System
#®(Code)

a b c d
A) 4 1 2 3
B) 3 4 1 2
C) 2 3 4 1
D) 1 2 3 4

5. a9 IledAlgd AETHIEEAT 7T U&7 AUH! T |
1. =79 AfgFR THEET R
2. Wiedr fa6g g7 T THRFT TG IHAT qEEAT HeTdid
3. AT TAT AT FT AAFAR AT ATHASAE FFeR a7 IS awgepl Heraied
4. =THA HETald
SIRITh HeTdlrd dR] WUH! HIqeH! ATaRAT e el & HH qal S 7
A) 4-3-2-1 B)4-2-3-1 C)2-3-4-1 D)1-2-3-4
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Part (B)
Sample Questions of Aptitude Test

Verbal reasoning

1. Find out the alternative which will replace the question mark.
O,T,T,FFSSE,(@®
A)E B) N C)O D)T
2. In the following find out the alternative which will replace the question mark.
Parts : Strap :: Wolf : ?
A) Fox B) Animal C) Flow D) Wood
3. If TABLET is coded as UACMET in a certain language, then how is CAPSULE written in that
code?

A) BAORUKE B)DAQTUME C) BAQRUKE D) DAOTUME

4. The houses of A and B face eachother on a road going north-south. A’s being on the western
side. Acomes out of his house, turns left,travels 5 m, turns right, travels 12 m to the front of D’s
house. B doesexactly the same and reaches thefront of C’s house. In this context,which one of the
followingstatements is correct?

A) C and D live on the same street.

B) C’s house faces south.

C) The houses of C and D are less than 30 m apart.
D) None of the above

Non-verbal reasoning

5. What is the total number of triangles in the below grid?

VAVAVANERN

A) 22 B) 23 C) 26 D) 27
6. Choose the figure which is different from the rest

A Ol O[O0 AJO O]
O N0 AID OlA g

A B C D
7. Which of the following diagrams indicates the best relation between Examination, Questions and

Practice?
96
@D<>Oo"
A B C D
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Quantitative aptitude

8. What number should come next?
8,6,9,23,87, ..
A) 174 B) 226 C) 324 D) 429

9. What number should replace the question mark?
A4, A8, /8
(779 . 928 ) A 2 )
/21 /36 /6 /24 /15 /12|
A) 463 B) 453 C) 435 D) 47

10. A student on her first 4 tests receivedan average score of N points. If she exceeds her previous
average scoreby 20 points on her fifth test, thenwhat is the average score for the first 5 tests?
A) N + 20 B)N + 10 C)N+4 D)N+5

General mental ability, logical reasoning and analytical ability

11. K is heavier than N. M weighs less than N. L is heavier than M but lighter than N. Which of the
following statements is NOT true?
A) K weighs more than M. B) N weighs less than K.
C) M weighs more than K. C) M is the lightest of all.

Read the following passage and answer the 3 (three) items that follow:

In a survey regarding a proposed measure to be introduced, 2878 persons took part of which
1652 were males. 1226 persons voted against the proposal of which 796 were males. 1425 persons
voted for the proposal. 196 females were undecided.

12. How many females voted for the proposal?

A) 430 B) 600
C) 624 D) 640
13. How many males were undecided?
A) 31 B) 227
C) 426 D) 581
14. How many females were not in favour of the proposal?
A) 430 B) 496
C) 586 D) 1226

15. Of the following statements, there are two statements both of which cannot be true but both can
be false. Which are these two statements?
1. All machines make noise.
2. Some machines are noisy.
3. No machine makes noise.
4. Some machines are not noisy.
A) land 2 B) 3and4 C) land3 D) 2and 4
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Data interpretation

The following line graph gives the ratio of the amounts of imports to the amount of exports of the
certain country for the period from 1995 to 2001.

Ratio of Value of Imports to Exports Over the Years

1.6
1o ] 1.4 1.55
1.4 4 1.25
1.3 -
1.2 -
1.1 4
l |
0.9 - 0.85 ¥ 0.95
0.8 7 g5
0.7 -
0.6 -
0.5 -
0.4
o3 0.35
0.2 -
0.1
1995 1996 1997 19908 1999 2000 2001
Tears

Using the above graph and answer the next 5 questions.
16. The imports were minimum proportionate to the exports of the Country in the year?

A) 1996 B) 1997 C)2000 D) 2001

17. What was the percentage increase in imports from 1997 to 1998?

A) 72 B) 56 C) 28 D) Data inadequate

18. If the imports of the country in 1996 was Rs. 272 million, the exports from the country in 1996
was?

A) Rs. 370 million B) Rs. 320 million  C) Rs. 280 million D) Rs. 275 million
19. In how many of the given years were the exports more than the imports?
A) 1 year B) 2 years C) 3 years D) 4 years

20. The imports were maximum proportionate to the exports of the Country in the year?

A) 1996 B) 1997 C)2000 D) 2001
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Part (C): -
Sample Questionsof English Language Competence Test

Read the passage below and answer the questions that follow.

Passage |

Oak and Company
Richard Mabey
1 If tree families had family trees the oak would have one of the oldest and grandest of all.

There are more than 500 different species, and over the last million years they have spread, in
various shapes and forms, over most of the northern half of the earth. There are mountain oaks,
swamp oaks, evergreen oaks, weeping oaks, and oaks on windswept cliffs that never reach
more than two or three feet in height. One kind in Spain has such a spongy bark that it is used
to make cork, so there are soft oaks, too. But for most of us, oak means just one kind of tree:
the tough, rugged giant that has played such a part in history and legend, and been so
important in the woodlands of Europe and North America.

2 Perhaps we have been unfair to other trees, but the forest oaks deserve their fame. They are
hardy, essay-going, and not all fussy about whether they grow. They can reach a great age—
even a thousand of years, though most are cut down long before this. Their squat trunks and
twisted branches, looking like clenched wooden muscles, can stand up to the worst kinds of
weather.

3 On top of all this, timber cut from oaks is as strong and remarkable as the trees themselves. It
is solid and hard-wearing, as good for furniture as it is for firewood. Before the days of steel
and concrete it made the frames of houses and ships. If we had to invent a new kind of timber it
would be hard to think up anything better.

4 Yet it isn’t just humans who find oaks the most useful of trees. Over the ages a huge number
of animals and plants have learned to live off—and in—the oaks. It is tempting to say that a
full-grown oak is like a house, but it is really more like a city—a whole community of
creatures travelling, working, eating, sleeping, singing, and bringing up young, on every part
from the topmost spring buds to the dead gash blasted out by a lightening flash.

Comprehension Questions: (5%1=5)

Choose the correct alternative.

1.

Which statement is closest to the main idea expressed in the first paragraph?
A. that there are varieties of oaks

B. that trees like oaks are family trees

C.  most people think that there is only one type of oak

D. the best kind of oak is found in Spain
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2. By giving example of a kind of oak found in Spain, the writer proves—
A. there are soft oaks
B.  oaks can be useful
C.  cork manufacturing industry depends on oaks
D. our thinking of oak as a hard wood is wrong

3. All the statements below are true, except—

there are varieties of oaks

oaks primarily grow in Northern part of the earth

oaks have muscles like human beings

steel is used nowadays as building material for which oaks were used in the past

Cow>»

4.  The sentence “If we had to invent a new kind of timber it would be hard to think up anything
better’” means—
A. We cannot invent a new kind of timber
B. Itis hard to think about a new timber
C. Itis hard to find a better timber than oak
D. It’s time that we better think of a new timber than oak

5. Which statement best expresses the idea expressed in paragraph 4?
A.  Animals and birds make homes in oaks
B.  Sometimes lightening strikes oaks
C. Plants also depend on oaks
D. Not only humans but also animals and plants find oaks useful

Vocabulary OQuestions: (7x1=7)

6.  The closest meaning of the word “giant” in paragraph 1 is---
A. legendary huge humanlike beings
B. apowerful living being
C. abeing who has history and legend
D. strong and having a great size

7. The phrase “stand up to” in paragraph 2 means—

A. Standing erect

B. Rise to a erect position

C.  Support oneself

D. Be equally capable in strength and power
8. “Bring up” in paragraph 4 means—

A. Raise children or babies

B.  Bring something from another place

C. Come closer to an object

D. Push something to a higher plane
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9.  The closest opposite meaning of the word “fussy” in paragraph 2 is—
A.  Selective

B. Choosy
C. Hardto please
D. Easy-going

10. Which grammar class (parts of speech) the “windswept” in paragraphl belongs to?

A. Noun
B. Verb
C. Adjective

D. Compound word

Syntactic Ability Questions: (8x1=8)

Choose the correct alternative.

11.  Which sentence indicates that John earned some money?
A. John nearly earned $ 100.
B.  John earned nearly $ 100.
C. Bothaandb
D. None of the above
12.  Which sentence is best active version of the sentence “The computer disk was damaged by
electric shock™?
A.  Someone damaged the computer disk.
B.  The computer disk has been damages by the electric shock.
C.  The electric shock damaged the computer disk.
D. Due to electric shock, the computer disk was damaged.

13.  Which one is the correct English expression?
A. John has been collecting stamps since 1996.
B. John collected stamps since 1996.
C.  John had collected stamps since 1996.
D. Since 1996, John was collecting stamps.

14.  Which preposition completes the sentence “I expect a lot of guest ~ Christmas.
A, in
B. at
C. on
D. for
15.  Which alternative completes the sentence “Last year, we visited St. Paul Cathedral in
Vienna.
A. that
B. the
C. a
D. none
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fefea odre o~ fecfrr =Ror(Second Phase)
e - AT JOnet T gRAwiaeE e
Section (A) - 10 Marks x 3 Questions = 30 Marks

[T T qEA

9.9  QTEAHET ATIRYT TeT ATIRT, Fead ¥ fqerear

9.} AR &F T ARERIAr

9.3 eeHTT ¥ 35w

9.¥  FqYTAR! qTHA JOITA!

9.4 AT & FaTATIH © ATRU, & T AITAH] ALY FREATHT [qTH T IradrTas

9.% TR TEATAMNHE T&T T ATl © AATTATNER QMEH, AN FHTSTRT 9T, A 9,
HEFRIAHAD EA T ATTHNIE AT

9.9 T ey, fava S ¥ uRrarel faewra S qrEedr e

GfeemT T HA
9 HurerHT Haunfer faewra
R AR Eiqar
R.R.9 fadradres, Hrdferet, sqaeaTtadT T =ATAATeTeRT
IR AT g, (e fagr= T Irsue Hifags
R.R.3 Faurfae aar FHEA AT Heressr 1 v fqqewr e
3 #Wa afusr
.Y AT AT, AR Faed T TEHaETT
R FHAAH HqEE AT AITAHT HreA [FATOTRT gfar
& BB A, Al Hed I AT, FHTALNHI, FHTANGE Jiafdiaed a1 hRIcHS
EEE
.8 ITHfhR! FASHIS T T, T T T Tehl ATTHR
.G Y, Y& T WM dE AT Aasa=
R I HTANAR, FaeqTiaesT T ATTIH BIAGUTAT FETAT ATTRTL
.90 Y=ER Hare T4, 04
Section (B) - 10 Marks x 2 Questions = 20 Marks
QAT Jar T GEEA
39 |ArESE FaTH qFdren, w1, faerar ¥ gt
3R ST deedar T uiqagdr
3.3 TSI HITHT AEIANT, AR T Afereha]
3.¥  grEawiAE Jar eI
3.4 faedr amad
3% SOREIE T SaThaledr
A ALY T AT
¥ HHET FMEE AT ;- Y, fers, ST ¥ R
¥R fa<i sgaegqmas ¥ araiiee Savege
¥.3  faehrE ASET T AT AEigeh ATSTAT
¥.¥  HEATNTArHAS rerr 2 faerg
¥4 I g
¥.%  qrase - ST ArRarT (Public— Private Partnership)

Page 12



SIEAEIEIRIU

WM T8 A=TIAHT Afatas a6 SSF Ter Afregd (THE AT, W AT HE) Tl

AR / ATARE AGIAAEF AIEH /AT ATER (TIET {9, €T THE) TLevh!
Rt ® qASTH AT TETHH

Section (C) - 10 Marks x 3 Questions = 30 Marks

QAP ATTHEATES

1.9
4R
4.3
1.%
4.4

4.5
4.9

FHHTSE =TT AT FHEAT

AT Td FIEhqeh TR

AT |RET0T, ATATNTE FREAT TAT [STeHamT

Aiepide fafagar 7 amifses qiR=mdT

ST/ AIEAESH] [TARIHT =TT AHHAAT TF GIHTBIOT (FTE TR, TSI, igep, AT
TAT 9TE<)

STHET (THT, THISHE, TS H, Trarae, srond’, fazenfra saen)

e AT fa=dr #9Rtg (cyber crime),s=ta@d  (human trafficking), Eemr
(cartelling) / Ttz (monopoly), ATasars, = ¥ F¥adl eigwa (Money Laundering)

SIREI TR

.9
%R
%.3
%Y
LR
%.%
2.9

AT afg dqar At faem
T TEdl ATdF faerees Ferar
oI FaepTaeT Y@ TeTe% : i, JAWT, TR, TIaH, AIRTH AR T4T JIFE FMe
AT faehTaaT ATEsIeh &, (Sl &7 ¥ Tehrl &bl A
FRITR AT, a7k FETAT ¥ A=RIed FedmT
MR, TAR T ST IJaTCH
AqMF FHaAna
Section (D) - 10 Marks x 2 Questions = 20 Marks

fa@aET aEg AitaeET

A
A
V.3
9%

.Y
CAY
9.9
Oz
MAS

FETIATHRT ATIROT

e faw

qargr faer

fir faere (afF, ST@0 quO0 WTHide Hidqes: g da ewar 3 faem difq), feur faewre
ALEE

ferepTa GFRATHT AT T AT ATehehl &TAeoehl SIS

faepTaaT AT T aT

faeaeaTdreRer, TaMEHE T g™

faepTeeT T TaeT el ¥ ratehar

ATATSTHT SAFITI ¥ qRATSTAT ek

9.0 TSR yiiatae ¥ fafaar Sarwefear

ATATARIGI G¥eig HITHATES

g9
c.R
c.3
. ¥
c.q

5.%
5.8

Staer fafaear qar gz
AT qRac T FEd TR
AT g

FAEATT

Frararer ¥ faew

I Tebd AT I &
I FAT HeT-HeAT LTI
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WM T8 A=TIAHT Afatas a6 SSF Ter Afregd (THE AT, W AT HE) Tl

AR / ATARE AGIAAEF AIEH /AT ATER (TIET {9, €T THE) TLevh!
Rt ® qASTH AT TETHH

JAT T~ FaT FHE qEET e

gug (Section) (A) - 10 Marks x 4 Questions = 40 Marks

YEE AT

1.9
1R

1.3
9.¥

9.4
9.%
9.9
9.5

1.9
1.90

qTISI{eh SHALITIAH GR=T T HIET

FHAR FaeATawH fafag geee: 997, grle, MAfh, TeaTIE, agar, dud qfadr, SR,
i e, FTATFET AR T ATHT]

TS AR, (A, ThR T FASATCHSE (G

qTasIAeh ALATIAAT (e, =0T, T@=hA, [ qthaT, 990, 993y, AfgeR T
¥ Freroor quivaerur, SR q9r Hedid

TATAPT ATAATF THABT (TR H, ATIRTT =T, AT, FREFT FAT T =
SFATIA &

TS, AT T ATAR-F e

AN FATS ATEASE FHeEH HATHA © ATASAE TAATS, ATHITE T, TasiTer TETT
T 9T 98 HeAdTh

ATASA T HALITITHRT TAT AFLTIT

aﬁ%w JATEH HFIX, Fraide, AHISH FooTd, FAA-FAR Tiafgebl TART, FaaR
qqn

gug (Section) (B) - 10 Marks x 2 Questions = 20 Marks

YA JUTHT ¥ ST dq8

R4
RR
R.3
R.¥
ER
R.%
RS

FET JOITeAT ¥ F9TeAdT Frerarar

T, Y97 ¥ M dees drd daiasas ¥ gHad

Y, J&9T ¥ TWIT TEHT RN JaT J=TAd el ANaiTd SAaedl ¥ ST
HTAR-ATEdT, ATEA, FRTAR, AqhdT T WA qE

TTATIS FREAT T LA ~FATBIT

foae SATEATIAHT TIT Tehl T

T qEHT Faae ¥ T

.5 AW TEHT a1 yare 9 "rerHes (Service Delivery Mechanism at Local Level)
R WM IXHR 9T U, 09%
@ug (Section) (C) - 10 Marks x 2 Questions = 20 Marks
e PRYUTAT I AT TEA
39 i HTE9OTTeT
3R SR AFARN ¥ FEgT
33 WM FH [Ggr, F APR T AT q=re
3.¥  QrEAAE AT, ATaATd o I ATl HUTh AT

ERS

2%
3.0

3.5

TAAHT FX GO TqHE @ed T FRATIAAR HqT0] T ATAg H2, AR, A<I20o,
HAR WEqA, TAT AT FRe% ¥ TR B T

FARTRHTR [ EEATeaR 0T TS AShig T I LA

wter +ifd, fa<irar fifq @ wifgs ifq

TSI T eI (AHIUT, HEAEIT T TeaTsd
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N JaT ATERT
WM T8 A=TIAHT Afatas a6 SSF Ter Afregd (THE AT, W AT HE) Tl
AR / ATARE AGIAAEF AIEH /AT ATER (TIET {9, €T THE) TLevh!
Rt ® qASTH AT TETHH

gug (Section) (D) - 10 Marks x 2 Questions = 20 Marks

WHR T FRARPT FQ@Tg, HIaTT T AGTIXETo

¥.q TRHEN A1fIE BRER - G, U, FRER Geeue, yRiETE S s, et giane T
giqaed Tl aedr

Y. HHHPNAT @ o1

¥.3 fadig sgawama

¥.¥ e Frfaly gsered TRl BT Sga

¥.Y AESAE @UE AT T T FFedl FIAAT AT

¥.% @RISR Ry, I¢9d, TR T ATIRA fagr=

¥.\9 %S ¥ A% FEAE qFERT TR

¥.© T YT T T TEehl A@TILIET0

¥R GrIAE GEATTh! AQTIIETIT

% 90 HEToM@T YLIeTe ¥ A@TINE qeared] FauTfaes T -1 e
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WM T8 A=TIAHT Afatas a6 SSF Ter Afregd (THE AT, W AT HE) Tl

AR / ATARE AGIAAEF AIEH /AT ATER (TIET {9, €T THE) TLevh!

Rt ® qASTH AT TETHH

Ffraw aem: - A g2eor, Ariee e ¥ At (Skill Test, Group Test & Interview)

fosar: = gfatr dq wderor(Information Technology Skill Test)
TARTHe & drerar(Practical Examination Scheme)

fasa quiE fasgaeq Rive qF g
Devanagari Typing R AT Y e
English Typing Y AT Y e
oA gfatr A Qe 90 Word_processing R I§
(IT Skill Test) Electronic Spreadsheet q g 90 firre
Presentation System q 5
Windows basic, Email and Internet q 5
ST Q03F R0 e
Contents
1. Windows basic, Email and Internet

Introduction to Graphical User Interface

Use & Update of Antivirus

Concept of virus, worm, spam etc.

Starting and shutting down Windows

Basic Windows elements - Desktop, Taskbar, My Computer, Recycle Bin, etc.
Concept of file, folder, menu, toolbar

Searching files and folders

Internet browsing & searching the content in the web

Creating Email ID, Using email and mail client tools

Basic Network troubleshooting (checking network & internet connectivity)

2. Word processing

e 6 6 o6 o o T[J e o o o o o o o o o o o

Creating, saving and opening documents

Typing in Devanagari and English

Copying, Moving, Deleting and Formatting Text
Paragraph formatting (alignment, indentation, spacing etc.)
Creating lists with Bullets and Numbering

Creating and Manipulating Tables

Borders and Shading

Creating Newspaper Style Documents Using Column
Security Techniques of Document

Inserting header, footer, page number,Graphics, Pictures, Symbols
Page setting, previewing and printing of documents

Mail merge

resentation System

Introduction to presentation application

Creating, Opening & Saving Slides

Formatting Slides, Slide design, Inserting header & footer

Slide Show

Animation

Inserting Built-in picture, Picture, Table, Chart, Graphs, and Organization Chart etc.
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WM T8 A=TIAHT Afatas a6 SSF Ter Afregd (THE AT, W AT HE) Tl

AR / ATARE AGIAAEF AIEH /AT ATER (TIET {9, €T THE) TLevh!
Rt ® qASTH AT TETHH

Electronic Spreadsheet

Organization of Electronic Spreadsheet applications (Cells, Rows, Columns,
Worksheet, Workbook and Workspace)

Creating, Opening and Saving Work Book

Editing, Copying, Moving, Deleting Cell Contents

Formatting Cells (Font, Border, Pattern, Alignment, Number , Protection, Margins and
text wrap)

o Formatting Rows, Column and Sheets
o Using Formula with Relative and Absolute Cell Reference
o Using Basic Functions (IF, SUM, MAX, MIN, AVERAGE etc)
o Sorting and Filtering Data
o Inserting Header and Footer
o Page Setting, Previewing and Printing
TARCHE AT Fiat T TAAHT THAT TI6e

(Sample guestions of Information Technology Skill Test)
T fagUel TaANRl Textdrs AR AHT 259 T4 | [2.5 #3] (5 fme)
(FFIET 150 9TeEe® AUH TaANTT Textiasa s 1)
Tt faguer ST Textds ATGR AT 23 MBI | [2.5 3] (5 fme)

(FEIHET 200 MeEET AUHT I Textlegas 1)

(T . 3, ¥, X T & BT AT AT 10 fe)

Perform the following in Word Processing: [0.5x4= 2cl ]

a

Copy and paste the English text typed in question no. 2 in a new document.

b. Insert a table with 3 columns and 5 rows below the text.

c. Inserta picture.

d. Apply Page Border and save it.

Prepare a presentation for the following information. [0.5x2 =1 c]

(PSC: Independent Constitutional Body,
Established: 15 June 1951,
Functions: selecting meritorious candidates for civil service)

Prepare the worksheet as below and insert suitable formula to calculate average salary.

[0.5x2 =1 ci]
S. No. | Name Post Salary
1 X JS 32,000.00
2 Y uUs 27,500.00
3 yA SO 24,500.00
Average Salary:
Perform the following: [1cl]

Set www.psc.gov.np as home page in your internet browser.

A I

e Word Processing, Presentation system, Electronic Spreadsheet Windows basic, Email and

Internet =¥t feature 8% THTILT WUHT Q0 TAACHT Tl YeTEes TS |
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N JaT ATERT
WM T8 A=TIAHT Afatas a6 SSF Ter Afregd (THE AT, W AT HE) Tl
AR / ATARE AGIAAEF AIEH /AT ATER (TIET {9, €T THE) TLevh!
Rt ® qASTH AT TETHH

SN a1 IFAERT Typing Skill Teste =i -
Taarrr Typing SKill Test &1 @RT K0 Te@ee®l UFl Text f€gag ¥ @A ATAR dF I
;-

Y@ W= 9fq fme (Correct Words/Minute) e b
Y T HHYE M8 i e o o F

Y AT |l del ¥ 9 Y 9T FHeEG e’ id fAee arad 0.40 ¥
9. Y AT VT J¢l ¥ OWRT HHIG 958 i HA-e arad 0.9 ¥k
qoaT FIH=T FEl ¥ qR.Y 93T FHIE 9758 Iid fHe arad 9.00 ¥®
QR.Y AT HE=ET FEl T Y AR HHYE 9eF i e arad q.]4 P
¥ T FIF=T FEl T 9.Y 9T FHG T8 Ui fAee arad .40 ¥
Q9.4 a1 FIFET el T R0 Wl HHYE TR Tid fH=e A q.94 ek
0 A7 FIVRET el T .Y Rl FHYE MR Ui e smaq .00 ¥
QY AT FFRT FEl T Y TRT FHG e Ui e arad Y e
Y AT |THwET FEIeg 958 id fHde arad .40 ¥F

English Typing Skill Test @I @RT 00 eTeaEwH T3l Text fa57® T W AR dF YaH
TR -

g W= faq e (Correct Words/Minute) s b
% Wl FHG e i fAee arad o 3HF
% AT AT d¢l T & AT FHAG e’ gfq A amaa 0.40 %%
R AT Hr9w=T a6l ¥ 4R AT HHYE R Ui fA=e aaa 0.9y HF
R AT F9=T F¢1 ¥ Q% vl FHG ek Ui fHee arad 9.00 ¥®F
¥ a1 AT FEl T 45 Wl FHHAG e iq (i arad 9.]4 3P
95 a1 |I9=T =gl ¥ 9 Awal FHeE oeE 9iq fAee arad q.40 ¥h
9 AT F9=T FEl T ¥ 9T FHIG 9TeE Ui HAee arad 9. Ik
¥ AT FIHwaT d¢ T R0 9wl FHG ek gfd e araq 3.00 %%
R0 A1 FHT Gl ¥ 30 WAl HHYE o8 9id e A Y HF
30 91 |r9wT J¢I9g 9es id fAve arad Y0 IF

SRS AT $EART Typing AT fEgUeT Text @g AT /AT 2189 Tl Textd T e =# s |
fegusr sl a1 TEARRT Textdl Sedit@d  TIH FHieH  qoendiesd TRAr  Textdr
Punctuationarsd w¥IRepl UTSUAT IFehl TeGAT ITUMT T S | deae=na & Formula &
T 9@ ore= gfq faee(Correct words/minute) e |

Formula:

(Total words typed — Wrong words)
5

97 ¥Te% ¥id AW (Correct words/minute) =
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N JaT ATERT
WM T8 A=TIAHT Afatas a6 SSF Ter Afregd (THE AT, W AT HE) Tl
AR / ATARE AGIAAEF AIEH /AT ATER (TIET {9, €T THE) TLevh!
Rt ® qASTH AT TETHH

qrAfE® T8 (Group Test)

qHfEd T Alched 921&0 (Personality Test) @0 T 39T &7 | [SHAl ATl Safasdqr qar
F Ugla qREdT qHA SREd] FEHHT FUTd GIERAT A, AT, BrEwHT oqre "y famme-fawe,
TAR T fTpT A Tl AR qIT FRAT=EaT TR FATH YEdTa qre=Al JFHEAREsH! &rwdT
Qe T T TRIE0H A HH 27 | | TGH A SAhd, (g -fawet T aiefeafq v g, o fam,
SHarars Bharefie adre, o Ferred, Maia d&a AR #¥ T /TRISH, &l HTHE q0 @
&THATRT ATIATY THLATATE TATIUXE I TEaTT T T, AR, RTSIAT, TheTichep! T AT TR

TS |
TS TE URILTHT SHEARESH Alfgh HHAT, ToR &9, JHE TARTedT, HAaeR, Afhd,

@M, Phaeirerar, HurreTtd, T9ET THEM d9ar, qqcd AT, 9T aeqIT J97 SATcheadl HUHT
A UEEH  AFAT  FAT  TIAAT T HATSA TR AN IHIGAREEATE FA GHITHIIE
[ / AT / FHEATHT AHEF SA®RA TN TATHNT T FATEIT AT AT bl (95 |

qrEfE® FARA (Group Discussion)

T YA AT TRA G0 0 quis T 30 fove s@fas gig S Adrdted afed gaha
(Leaderless Group Discussion) & ¥qT aaFad WA ©§ | [€2UHT ged ar Topic &1 fawaem
g i gwafa aHEd gewd 7 A% SHeARd @fma g&afd (Individual

Presentation)TT T+s; | T8 TRIET0HT HATSAH! AN ST ATARH 3 AT AT FAEbl AT BTG, |
ATANTH T - qeET
ATANTRT T - e
EEIICE] - e
T&r/fasr (@ =) - e

qfE® SARIHT g3 THAT 79 a1 Topic

IJATERVIHT AT - AT Feoha, TRMAT (AR, e S|, @I JRET, JiqeT I S Topics HelswhT
T Topic AT fagas |
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